SELTEANE T e

- LN
8

= 4

HEE (16~245%) AN REE T BERE L L DR
EEGLBICEISFHT LG -FEHDREERKE, £
DERITHSIETORGERZFT LELTLS,

@ BESFMDHER

16/24 o5 u 3,000 20
DI T el
:i\ — c“::.,.h‘ 1% i 2000 1 15 g
AEwe® | = S A B
=y OB a0 )
EFEEORFREER | ow SHE I N 5 R RO
135423\ o
44 2,068 1,966 1,708 1,477 1,339
R EAL P S FIZAR CoOgEEES| 2704 | 2637 | 2242 | 1991 1.829
—REH 12 14 17 16 13
O BRIEHAEERR(ER28%E)
400 -5
2 4 300 | 14 %
& ] 3§
B % 20 |
(N) () 12
00 | E | 1()\>
0 e 0
16 At
4% 33 | 17 | 25 | 165 | 153 | 102 | 119 | 111 | 197 | 228 | 111 | 78 |1,339
COaEES 57 | 19 | 33 | 204 | 207 | 144 | 169 | 159 | 264 | 306 | 159 | 108 | 1,829
——REH 1 0 2 0 1 0 0 0 1 3 2 3 13
A L}
0 &l SEERREKR(TA2E)
R M S B 16-195% 20-245%%
7 PUBREE W TWRE URE = —iRE el - —
H# 1,201 138 250 70 951 68
B 11 2 4 0 7 2
BEEN 1,665 164 352 89 1,313 75

_14_




O EHETARERSE

H28

Pa§®=E 1000 2 5
900 |- —
5 x 800 | BHEHEXHE i EHXE 14
g = 000 13 %
g g 500 | g
() () 300 | N 12
200 | 11 (N)
108 =l e o\ .
X% |HE AL o , -
q=| @ | 5 ith i Bz By | 5|E | &5t
el ! 53 | 54 | 22 10 | 47 | 597 | 180 | 100 | 106 | 32 1,201
EDgEES| 53 | 56 | 25 9 69 | 868 | 238 | 140 | 158 | 49 1,665
——EEH 2 1 0 1 2 0 0 0 0 5 11
:iﬁi 50 5
w0 | BERE X H _EXxE I
1% s
= 4 i 1 i
= g 0 & P
O 20 | 12 #
(N) ()
10 | 1 1N
0 s o : 0
% 17 11 138
COgEEH 20 11 164
—EEHK 0 0 2
O TRHETHIFEERR
LEER _
HE_EDERE
1,339 (R |
13 i5 LFEE .. THEXHET
=l hEY ... TSR
kBT | 19 T .. EEH(AN)
5
REREAY o 16 0 W B R
0 1
HEAT) {frrm] O
5
mum |\ [LBT™, R=E0
335 56
1 1
ZEBAR
911
=
35 BEE] [ | 4 Eem
1 57 B4 36
0 '_*"76'2 mEm] |
18 frm
_— b1 8
53 8 2

_15_




